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ofleyemrse : (1) Simadg alamss@pd sflure siFaU Lfeurdl e arersm GTETLS G ET
sflunisgs Qsmetarayb. iFalLS D GonWBUdda Sdns
samsraLuraTiLb o L anguns 0gfeiésan.

2) Beob d@g &HHBUY wolmar LLEGDL TWSUSHED

Sl 5CaMgHaughHGL Lwatu(ss Gaugr(Hh. ULRSGE eumjeusn®

Quenéled Lwem(hSSe L.

Check the question paper for fairness of printing. If there is any lack of fairness,

Instructions : (1)
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

@Y : Peuallanmgger BeE UGS amar Csmamr gl

Note : This question paper contains four parts.

u@d - I /PART -1
@oluy (i) SimeGg NanTEsEhsEL0 eflenL_wafl&saLD. | |  14x1=14

(i) Qar@asuu(barer wipn el seild Baad gnymLw el ulamen
CoimbAs(s816 GOUILELe aflen_ulenanyd Caigg eT(psab.

Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1. A=fa, b, p}, B={2, 3}, C={p, q, 1, s} araled, n[(AUC) X B] 4e15) :
(=1) 8 (<3) 20 (@) 12 (/) 16
A={a’ ba P}, B={2, 3}1 C'—'{P, q,r, S} then n[(AUC] XB] is :
(a) 8 (b) 20 (c) 12 (d) 16

2. n(A)=p, n(B)=q eaille®> A -Wl(BHg B -&@ o sEh Qwrgs o peysafar
GTUOT Gt | AN ST TS|

(=)0 (=) 1 (@) 2ra-1 . (rF) 2Pd
If n(A)=p, n(B)=q, then the total number of relations that exist from A to B is

(a) O (b) 1 (c) 2pra-1 (d) 2ra

3. F;=1,F,=3 womd F =F, _,+F,_, aes Qan(pésliLiger, Fy emg) :
(=1) 3 (<2) 5 (&) 8 (Fr) 11

(a) 3 b 5 (c) 8 (d) 11

4. ty, ty, tg e eremugy) @@ sl (hd Qariit euflens arafled tg, tiy, tig, ... eTeTLIg)
(=1) e QuBsEGS Gami auflens
(<) @@ &0 Asmi eflos
(@) @ sl (s Gamii euflemsywere, umsEs Lemi euflesujwde
() e wrhels Agrir euflens
If the sequence t;, ty, ty ...... are in AP, then the sequence tg, t|,, tg,
(a) a Geometric Progression
(b) an Arithmetic Progression
(c) neither an Arithmetic Progression nor a Geometric Progression

(d) a constant sequence
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9%
(%)(211;—21)
7\y? -2y + 1
707 =29+
y
3
~ (b) _ %
21y — 21)
7(y% =2 '1
o f2ozed

PG @@uq. ELOETUML 19 65T eUenTLILLD 6(1h

(<=1) Crr&Gam® (<) @ulLLb

Graph of a Quadratic equation is a

(a) straight line (b)

AB _ BC

(@) ureueerwd () SHuFeuenaTid

(c) parabola (d) - hyperbola

— = —— aafléy, AABC wpgd AEDF eluryg eagdearssoewns

DE FD
Slenowd ?

(1) B=IE

If in triangles ABC and EDF

(a) [B=I|E (b)

(=) A=ID

AB _ BC

(@) IB=[D () |[A=|F
OE -~ 7D then they will be similm, when :
(c) B=[D (d |A=I|F
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12.
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L gdlen LeTHCamhib sigen Fuphd QemEGssms Semwyh @b

(31) enwid (<) QsnHydref]

(&) epyefial (/) prem

A tangent of a circle is perpendicular to the radius at the :
(a) centre (b) point of contact

(c) infinity (d) chord

x-2556@ Detigssns o der CrisCan e snia, :

(=) 1 (<) 0 (@) = (F) -1

The slope of the straight line perpendicular to x-axis is :

(a) 1 (b) 0 (c) = (d -1

sinf=cos6 erafled 2tan0 +sin20—1 -6 WAL :

3 -3 2 -2
(=) 5 () 5 @) 3 () =
If sinf=cosb, then the value of 2tan20 +sin20—1 is :

3 -3 2 -2
@ 3 b) == (le 3 (d)  —=-

b 5 Ge.5 Hmb smywrd 13 Qg8 2 emLw CrieulLs sibGeér 2w -
(=) 12 Q&6 (<) 10 Q&8 (@) 13 Qs.18 () 5 Qs.18

The height of a right circular cone whose radius is 5 cm and slant height is 13 cm
will be :

(a) 12cm (b) 10 cm (c) 13 cm (d) 5cm

Fwomer eflCLb HYL Wb 2®LW @F o moar, @ &by LHDID @
Garargdlen sar jeme safen el :

(2)1:2:3 (p)2:1:3 (@) 1:3:2 (F) 3:1:2

The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same
diameter and same height is :

(@ 1:2:3 (b) 2:1:3 (¢) 1:3:2 (d 3:1:2
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13. @HLACL sTeju etaflseflen saBiged whmid symef wpduames apannGu 407 wpmib
11 erafled, sreyu Yereflsaflan eramanfllsamswmeng :
(=) 37 (<21) 4477 (@) 396 (rF) 418

If the sum and mean of a data are 407 and 11 respectively, then the number of
observations in the data are :

(a) 37 (b) 4477 (c) 396 (d) 418

14. yhdle apsgse {a, b, ....., z} -éﬂ@ﬁ@ QM TS5 Fweumiiiiy apenpulledr Gsiay
Qeudu@épg. ABS aTWsHE x -5 WhH@SW TS5 5Md RIS

Boiushatar fapsss ;
12 1 23 3
(=) T3 ()15 @) 3 () 26
If a letter is chosen at random from the English alphabets {a, b, ..... , 2}, then the
probability that the letter chosen precedes x :
12 1 23 : : 3
(@) 13 ®) - 73 (¢) g d) g

L@ - II / PART - IT

GOl : semeauGugnb 10 sllamésEnés elmLwalésab. elemm aar 28 -&@
sU_Lmung efenwall&sey. - 10x2=20

Note : Answer any 10 questions.  Question No. 28 is compulsory.

15. .BxAz{(—Z, 3), (-2, 4), (0, 3), (0, 4), (3, 3), (3, 4)} arafled A WHMID B yHweuherms
S TEHTS.
If BxA={-2, 3), (-2, 4), (0, 3), (0, 4), (3, 3), (3, 4)} find A and B.

16. fof (k)=5, flk)=2k— 1 erafléd, k -6t LoFlienLIEG HTERTS.
Find k if fof(k)=5 where f(k)=2k-1.

17. x+6, x+12 ppib x+ 15 ereruar @ AUmEES g aflasuier Agmi&slwrer
eETm 2 MILILGET arafldy, x -6 FllImUs STeRs.
Find x so that x+6, x+ 12 and x+ 15 are consecutive terms of a Geometric

Progression.

[ H®UYS / Turn over
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18. &@{'ﬁ@a;)‘+2+x . St
4y 12y
2
Simplify:x+2+x —x=6
4 12y2
19,

emaumd E)Buigs swarum_yen papoiisailen SIS HIaETs.
2x2-x-1=0

Determine the nature of roots for the following quadratic equation.
2x2~x-1=0

20. uLgdle AD eraug) £BAC -uflen @) maw6leuL g WmELD.
AB=10 Q&.8
AC=14 Q&.5 wHmbd

BC=6 G@5.18 ecraflé, BD wpmib DC-pé sners.

B C

D
6 Q&.15

In the figure AD is the bisector of ZBAC, if AB=10 cm, AC=14 cm and BC=6 cm.
Find BD and DC.
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R Yyever xy sardHled (—6, —4) erap Letaflufled 2 arengy). (5, 11) eremp yaratludiey
@ UM Ly eveudslul(perargl. yemer Wadk @méw imb Lwenilggi ure
SMmbs NHbUSng eafle, urmall UGGHUSDHEGS Ggmmmnm umen g ul e
FOSTUTL LG SRS

A cat is located at the point (—6, —4) in xy plane. A bottle of milk is kept at
(5, 11). The cat wishes to consume the milk travelling through shortest possible

distance. Find the equation of the path it needs to take the milk.

12y=—(P+3)x+ 12, 12x—7y=16 yHu CrrsCarpadr eamsdanan e @Gs35
erafled, P -udlenm wilienuis snains.

If the straight lines 12y=—(P+3)x+12, 12x—7y=16 are perpendicular then
find ‘P :

sech sinf

= coth eremuens KlemAGseuL.
sinf cosf 0D ﬁ@ o

sech sin® _
sinf cosf

Prove that

gsrenans Qamar® 7 5 rapw, 2418 2 WIF(PLD 2 6HL W (T JalDL GUI6US Snl THLD
o (peumssLILHEADNF. Qseucus auged Sigraflen oigon 4 B eraflev, siger Herwd

ST S.
The radius of a conical tent is 7 m and height is 24 m. Calculate the length of the
canvas used to make the tent if the width of the rectangular canvas is 4 m.

@m Carerisafar s eldsb 4 : 7 arailed Seupdle ser {66y gaile el &b
STES. :

If the ratio of radii of two spheres is 4 : 7, find the ratio of their volumes.

QaTR&sIUL L sreyl LaTelaEnéE 6568 wHMID LS Qasgpemué; STETE.
63, 89, 98, 125, 79, 108, 117, 68
Find the range and co-efficient of range of the following data.

63, 89, 98, 125, 79, 108, 117, 68

6822
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27. Awppd B 8w @@ Aarariiugnyiser IT -ulle) Geraughsanss sréglmuueunsar.
Qauisafler A Caibbs®ssiLeugnsrear Hapsse) 0.5. A LHMHIWL B Gl(Heu(mLb
Gambshssuu@eugnsrar Hspsse 0.3 aafler, B GCambdshésiuBougnasrar
Fsuls flapssea) 0.8 aar Hlenlsse,b.

A and B are two candidates seeking admission to IIT. The probability that A
getting selected is 0.5 and the probability that both A and B getting selected is
0.3. Prove that probability of B being selected is at the most 0.8.

28. p’xq!'xr?xs%=3,15,000 erémpeungy Siemwowid ereflé p, g, r wHHID s S weupilen
LHILSMETE STanTs.

If p2xq! xr*xs3=3,15,000 then find p, q, r and s.

LS - III / PART - III

GOy : eremeuCued 10 elemésEnsE o walssan. darm aar 42 -6
SLLmuwns aflenwaflssa]ib. 10x5=50

Note : Answer any 10 questions. Question No. 42 is compulsory.

29. f: A - B aenp &riunangl f(x) = % —-1, @ aumTuUmSSLUBE DG . @G

A={2, 4,6, 10, 12}, B={0, 1, 2, 4, 5, 9} =5 @_@é@fn Gurgy gy f -8 GlesTeu(mLD
wpanngafley @Ghlésa. |

(i) eufleng Cemgsaflar seawrid (ii) 9L cuenemT

(iii) bY&GGDH UL (iv) eueryuULLD

Let f: A = B be a function defined by f(x)= % — 1, where A={2, 4, 6, 10, 12},
B={0, 1, 2, 4, 5, 9} Represent fby :

(i) set of ordered pairs (ii) a table

(111) arn arrow diagra_m (1v] a graph
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30. @@ Cgmelgidier aiHsEHéEE 1 Wsd 49 ey QAsrLieflurss sselwésn
upRsUULRererg. Qepddlan il iwhE eaagns edrar  eHaafler
sgellosshseller el g Osrasurag Qepddlear o5l iyhEl Gaasns o drar
aipseflan sselwssnseiar el (s QsTssEE swib aalle Qspdadlar el (B
55 VEESNSE HTEHS.

The houses of a street are numbered from 1 to 49. Senthil’s house is numbered

such that the sum of numbers of the houses prior to Senthil’s house is equal to
the sum of numbers of the houses following Senthil’s house. Find Senthil’s
house number.

31. 5+55+555+..... erenrm Qgm_reuflensufen (pged n 2 mliLsaetlen (G0 STEs.

Find the sum to n terms of the series 5+55+555+.....

32. §psaramb epermy wrhlseld S@whs emrusaw Cpllud swearurl (s

QerEULsmer ST&s.
3y
x+20="7 +10=22+5=110~(y+2)

Solve the following system of linear equations in three variables.

3
x+20=?y +10=22+5=110—(y+2)
5 2 9 7
33. A= [1 ) J, B=|1 2 | eafle (ABT=BTAT aresruensé sfluniréseyib.
£ 5 —1 8
S 2 9 L7
If A= [1 . 8)’ B=|1 2 | verify that (AB)T=BTAT

[ Slmliys / Turn over

CamScanner
Kindly Share Your Study Materials to Our Email Id - padasalai.net@gmail..r@


https://www.padasalai.net/

www.Padasalai.Net ‘ www.TrbTnpsc.com

6822 10

34. P SLLT @anQeiefludies ‘@ B L pmd b’ BLLT 2wigepeTaT @ Sremee
2 _GTETE. gne‘&m&mﬂeh &év'&ﬂuﬂaﬂ@‘r_'r@ G@@wmm Qﬂﬁ&ﬁf&@ﬂéﬂ Slg&@E iU

Two poles of height ‘@’ metres and ‘b’ metres are ‘P’ metres apart. Prove that the
height of the point of intersection of the lines joining the top of each pole to the

. ; b
foot of the opposite pole is given by —i—g metres.
a

35. Gsmewr Qmswdelly Casnpsms erwpd Mepdésea. .

State and prove Angle Bisector theorem.

36. (8, 6) (5, 11) (=5, 12) wpmid (—4, 3) @A Ldelsmer (pearEeTTs G ameim
BraErsHen UTlLeaus Sras.
Find the area of the quadrilateral formed by points (8, 6) (5, 11) (-5, 12) and
(—4, 3).

37. 7x-3y=-12, 2y=x+3 g%beﬂu_l CrreGar@ser spdls@n Letefl euldl Geaeugd
X-SEGHEE, ()enemTTeg|ome nga;@asrruq.m FLOGTUML DL & &TEHTs.

Find the equation of a straight line parallel to X-axis and passing through the
point of intersection of the lines 7x—3y= —12 and 2y=x+3.

. 38. @ sensmy elassgdarn e FUlNmHe adldrdlt Lsshseld o drer @rean(
sliua&ar 30° LHMD 60° @n&ss Carangdled urfssiudamer. soRsHT
fersasgan ewrb h 18, @m sLLGSET WHMID sSoRsMT laTdssdan i iLES)
Awme @Cr Cpi&Car_ind smwddapear aafle, Qran® sludsErss

@evLiul L dgmemaay % 5. sreur Hleplddaeyb.

From the top of a lighthouse, the angle of depression of two ships on the opposite
sides of it are observed to be 30° and 60°. If the height of the lighthouse is ‘h’
metres and the line joining the ships passes through the foot of the lighthouse,

. ., 4h
show that the distance between the ships is — m.

J3
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@M 2 (hanerulles b whmib 2 wiymisallar e9HsD 5 : 7 yuELb. <iFer eumaTLTIL|
5500 &.018.18 eraféd, o (menemufarr pyLd HMID S ITLD HTEHTS.

The radius and height of a cylinder are in the ratio 5 : 7 and its curved surface
area is 5500 sq.cm. Find its radius and height.

ST Sevig) GOHLU 6bprednE 150 BUEHET ShIGUSDE @ (1h Sl ML LSS DT,
SaLTrESlen oigliugd o mear cugelaid CupuEd sy eugelgbd 2 6rerg).
RHAIT SRIGUSHES 4 .15 Sglingd uriyb 40 .8 srppb CameuliuGHng.

- SLisH o (meneruien 2 wipb 8 1S erafled Faidi9em 2 wWipd STES.

Arul has to make arrangements for the accommodation of 150 persons for his
family function. For this purpose, he plans to build a tent which is in the shape of
cylinder surmounted by a cone. Each person requires 4 sq.m. of the space on
ground and 40 cu. meter of air to breathe. Find the height of the conical part of

the tent if the height of cylindrical part is 8 m.

@ram® Eymen LsmL&6T (WPepwns @Gr Crraded o miLiL@amer.
(i) Qe vseoLsaigid @Graps vy oL &s

(i) & wHuyseaier AUmSsHLMET LST aTanTs &anL&s

(iii) & wHlyseller mbBse uaT earaTs Sl bs

(iv) s i setler ah@g,ei) 1 -8 @Q(H5E ‘1

< dwu flepsflaaier Flspssajsmens Gras.

Two unbiased dice are rolled once. Find the probability of getting :

'(i) a doublet (equal numbers on both dice)

(ii) the product as a prime number

(iii) the sum as a prime number

(iv) the sum as 1

A={xeW/x< 3}, B={xeN/1<x= 5} pmib C=(3, 5,7} eralléd Ax (BUC) = (A X B)U(AX C)
GTETLIENS FiMlLIMT&H&EaLD.

Let A={xeW/x < 3}, B={xeN/1<x <5} and C={3, 5, 7} verify that
AX(BUC)=(AxB)UAXC).

[Q@L’an; / Turn over
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@J‘ﬂ‘;“-l T Y 2 aﬁlemré;as@és@m efen L wiafl&&HeyLD.
Note : Answer all the questions.

43. (=) 4 Q&8 @yrwedrer el L aorbg, <As@ @wUSHAGHHS 1

44.

www.Padasalai.Net www.TrbTnpsc.com
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u@$) - IV / PART - IV

1 Q&.15

Qzrenevellguerer e Yareflowsd GHSa, ity erafludedl(mHE! aul LHNGE
@ran(h srhGsn(hser euamys.
VG

(<) SigUiuGsh BC=8 Q5.8 ZA=60° wHmib ZA -6 G F0EIL W&
BC -g D eenp yatefludies BD=6 Q&.15 eranmpeurm gHH &8I areled,
Wp&ECsTanTd ABC cuens.

(a) Take a point which is 11 cm away from the centre of a circle of radius 4 cm
and draw two tangents to the circle from that point. '

OR

(b) Draw a triangle ABC of base BC=8 cm, ZA=60° and the bisector of ZA meets
BC at D such that BD=6 cm.

(1) auredlar QeueuCoupy Slemayaafleh 6 UL BISMET U THSTET. S euenemrudled
o eremeunny, @aGeunm el Lgdar ol LsHnED, digar sHpaTlHEGL 2 Ger
Campmug QSTLILEEG @@ UMTULL UMILED. HFE LweruBhSS
a9l Liomeng) 6 Q8.8 =16 QBEGL Curgl el LgSlar sHDETeNEIS SIS

Sl Ld (x) Q&5 1 2 3 4 5
shperey (y) Geu5 | 31 | 62 | 9.3 [ 124 ] 155

‘ D{6V60F]
(@p) y=x2—5x—6 -6 eu@yLLLD QUMTHS. Sig@all LweLBSH x2—5x—14=0
eTam FETUT LG ST&Hea L. '
(a) Varshika drew 6 circles with different sizes. Draw a graph for the relationship

between the diameter and circumference (approximately related) of gach
circle as shown in the table and use it to find the circumference of a circle

when its diameter is 6 cm.

Diameter (x) cm 1 2 3 4 5
Circumference (y) cm | 3.1 6.2 9.3 | 12.4 | 15.5
OR

(b) Draw the graph of y=x?—5x—6 and hence solve x2-5x—14=0.

-00o0-
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